é

)
Wi 31STINTERNATIONAL

[ split

a a OLYMPIAD IN INFORMATICS
- M) 4-11AUGUST 2019 Day 1Tasks
BAKU - AZERBAIJAN Arabic (SYR)

daolundl @lleall &5jo

M =1 0o dabyo opolasl ligb M a2g) LS 1 — 1)) 0 o dedyo 65U (5 (ol ploe N 32g)
bl pladxiwl dobull @izl o 295 (51 ow il Sadl (o . uilitee sl paalze @b JS Loy
B g pg2 ol 58 Liobws lalze A jo55 o) )8 <l ol @545 JUS &bl pllzall JS 8)03) dabls labixs
G N wdse Gilly plleall iy pois Bgw M og) U ;8 Lol lalze C g pga (FU (58 ol Lalze
(sl olas 8aslg degamae (] (setiiaw ploo JS .eayill ¢ b ,a yolic sac illy C B A Glegamo &S

a+btc=n

0855 Ol ) ©legaze WS Juol (o J8VI e glicgazo ol oz OB A olegazall sl debld i
plleall (o 29 (51 oyl pSaall (po IS 13] diaie LT daolunll plleall o S dcgamo e Jois .dasie
G Lolunll @leall Biod 5635 . et pud plee (gl pe jopall por Grbll plazinl S pad duoluwll

oMel 8,55 kall byl ins cols 13] dsdle C',B A wlegama

odlo 8o (gl azga Y a3l sas g ((€,b,a lhac] a2) dusbunll pleall ddlo B sl Gle dabld acke
Lgin (6l dloub @8 dadlo e sac lis ol 13)

(G @I dzxoyy elile sy

int[] find split(int n, int a, int b, int c, int[] p, int[] q)
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find split(9, 4, 2, 3,
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find split(e, 2, 2, 2, [0, 6, 0, 0, O], [1, 2, 3, 4, 5])
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Sample grader

:The sample grader reads the input in the following format

n m:1lline e
abc2line o
pli] qfi] :(0<i<m—1line3+i(for

.The sample grader prints a single line containing the array returned by find split
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